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MatemaTtuka EI'D

CBoMcTBa cTeneHel JjorapupmMoB

YnpaxHeHre 1. BHYMCAUTE :

1) log, 49; 4) log; 243; 7) logo 3; 10) log,5 625 + 2; 13) logs V5;
2) log, 64; 5) log, 1024; 8) 8log,, 1000 +1; 11) 55— 7log,49; 14) 4log;V27;
3) 3log,3169; 6) 8log; 27; 9)1—log,2; 12) 10logy9p0 10; 15) log. /555 10.

YnpaxHeHye 2. BHYMCIUTE:

1) logpos 5 +10gg 3; 6) log, 256 — 0,5log,, 1600 ; 11) logz V3 + log77;

2) logg,1 10 —log, 32; 7) 3logg2 + 2log48; 12) 3log, V8 — 210g;9;

3) logo;s 0,25 —log, 1; 8) logz7 9 —10ge1 27; 13) 8log,; V13 — log, ;15 100;
4) log, 0,49 + log, 100; 9) 2logys 5 + 108125 5;

14) log,5 V5 + log 5 625;

5) logg3 2,7 +logg3 0,01; 10) logg; 27 —log,43 81;
15) log 735 V27 + 9log 5 V3.

YnpaxHeHue 3. YHOPOCTUTE:
1) log, x + 3logg y +logs, z°;
2) loggx? —logs y +logs z;
3) loggy x* —log,, ¥° —logg z%;
4) log10x + 2log190 ¥y — 31081000 Z;
5) logﬁx -3 logmy +logsz,rpe x,y,z > 0.

YnpaxHeHve 4. BBYUCIUTE :

X3
1) log, — ecm log, x = 5;

25
2) logs —4-eom logs x = 4;

32
3) log, ﬁ,ecnu log, x =7;

4) log, 3 a?b,ecnu logy b = 2;

5) log, 3\/ a’b*,ecnu log, b =5, raex,a,b > 0.



